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NPTEL » Practitioners Course In Descriptive,Predictive And Prescriptive Analytics Announcements About the Course  Ask a Question Progress Mentor

Unit 4 - Week 2

Course outline

Assignment - 2

How to access the portal
The due date for submitting this assignment has passed. Due on 2019-09-11, 23:59 IST.
As per our records you have not submitted this assignment.

Week 0
Week 1 1) On the basis of the data given below, choose the correct data type for the attribute "Print Type” from the options given below. 2 points
Week 2
Table 1
Lecture 5: Types of Models
S.No. | Printer Name Printer Type Print Type | PPM | Print Quality | Price Comments

Lecture 6: Data and its Types

Lecture 7° Overview of 1 HQ Prints L124 Laser Printers Color 40 2 6500 | Suitable for getting color prints, quicker

Probability

. ) 2 HQ Printz 1821 | Solid InkJet Printers BNV 16 3 4970 | Suitable for medium guality prints

Quiz : Assignment - 2

Solutions - Assignment 2 3 | HQ Prints 46LE LED Printers Color 45 4 24225 | Suitable for high quality prints

Feedback form for week 2

4 HQ Printz 7510T | Dot Matrix Printers BNV 51 1 5900 | Suitable for large workloads with less guality
Week 3
Nominal
Week 4 Ordinal
Interval
Week 5 Ratio
Week 6 Mo, the answer is incorrect.
Score: 0
Accepted Answers:

Week 7 Nominal
Week 8 2] On the basis of the data given in Table 1, choose the correct data analytic tool for the attribute "PPM” from the options given below. 2 points

Kolmogorov smirnov Test
Chi-=quare Test

t-Test

None of these

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
t-Test

3] On the basis of the data given in Table 1, choose the correct correct option from below. £ points

Statement A: The attribute "Print Quality” has discrete data without any inherent ordering.
Statement B: The attribute "Price” has "Ratio” as its data type and thus a chi-square test is the most suitable tool for analysis.

Statement A is correct and Statement B is correct.
staternent A is correct and Statement B is wrong.
statement A is wrong and Statement B is correct.
Statement A is wrong and Statement B is wrong.

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
Staterment A is wrong and Statement B is wrong.

4) Capability Models are those that assist in decision-making which is internal to the organization 2 points

True
False

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
True

2) In asimulation experiment, the time taken to cover a stipulated distance by the particle follows a uniform probability distribution within [7,15] 2 points

seconds.
What is the probability that the particle will cover the distance on or before 9 seconds”?

0.41
0.84
0.25
0.75

Mo, the answer is incorrect.

Score: 0

Accepted Answers:

0.25

6] Ewvents, in probability theory, are defined as the subsets of the sample space 2 points
True
False

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
True

) A bag contains Green {G) and Blue (B} balls. The experiment allows 1o draw two balls from the bag (one by one) at a time. A random variable has 2 points
been defined that counts the number of blue balls in a draw. What are the values that this random variable can take?

X ={GG, GB, BG, BB}

X=1{0,1,2}
X ={GG, BG, BB}
X=1{1,2}
Mo, the answer is incorrect.
Score: 0
Accepted Answers:
X = {D.l .lr.l E.II
8) A fair dice is rolled for two times. What is the probability that the summation of the two outcomes will be exactly 97 2 points
0.125
0.246
0.111
0.167
Mo, the answer is incorrect.
acore: 0
Accepted Answers:
a.111
9] An analyst has the responsibility to make rational decisions. 2 points
True
False

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
False

10) Expertise models uses feedback instruments to assist in decision-making. 2 points

True
False
Mo, the answer is incorrect.

Score: 0

Accepted Answers:
False



